A £ 0 & A

AH o

Al A

=0 o
20248 =0il& LESIH nSHMS0
SA: DEHSH
33 HdssHM 75
CHlL TMBE)|E DE (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
WM 47,348,868 40,000,843 7,348,025
= 800,000
Jl 584,422
Al 1,182,378
Ea 44,782,068
gdsisHN 2= 524,940 522,080 2,860
Al 26,000
= 498,940
gdstsolet 2= 524,940 522,080 2,860
Al 26,000
= 498,940
gddisig=g gdal 51,680 33,820 17,860
201 Ler=23 | 38,080 31,820 6,260
01 At2teltl 16,260 11,260 5,000
OBdsisEd =578 S
5,000,000& 5,000
OBMNSHEOIS &G
70,0002 x0H #23] 1,260
O==gdss 22 X 10,000
O==gdss g8 NH
8,000,000& 8,000
Osxgdsis dEEA M
2,000,000& 2,000
2 S5=2g4l 21,820 20,560 1,260
O0382= £ HA 21,820
OBMUSISEMHOIA =24
380,000 «1CH*12& 4,560
OEMSI&SHO0IXIAE FXIZ4=H]
12,600,000 *10% 1,260
OEMEISEMOIXN SRS
1,000,000& «1CH* 12 12,000
Od=gdstsAIg23 2|
4,000,000& 4,000
202 O4H| 2,000 2,000
01 2LHA LI 2,000 2,000
o220l 2,000,000& 2,000
203 gF=4| 2,000 2,000
03 A=A 2= 2,000 2,000
OBMSERY 2RET 2,000,000 2,000
204 23| 9,600 9,600
2 SHYLHY| 9,600 9,600
=T 50,0002 1624 » 122 9,600
GUSISEHAAY 369,000 404,000 /35,000
Al 26,000




SA: DEHSH
33 HdssHM 75
Rl Bdsisolgt 15 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 343,000
201 er23y| 168,000 193,000 225,000
Al 14,000
s 154,000
01 AtR2tc|Hl 27,000 29,000 22,000
OEdss OtS=tn M2
7,000,000 7,000
Al 7,000
OoAOIHEdsts2 7= 20,000,000& 20,000
03 A2 b 141,000 164,000 /23,000
OO0l JIESE A 20,000,000 20,000
OdHZ Olehthst 20,000,000 20,000
ORZEZ2ZANE 40,000,000 40,000
omMstssotel 2435t 30,000
OmuMstaess 938
15,000,000 15,000
OguslEs0el 028 stotg
15,000,000 15,000
OLUIXNE Solus N2&Sot 28
14,000,000& 14,000
omystsugs 29 17,000,000 17,000
Al 7,000
T 10,000
301 EtE NS 46,000 51,000 25,000
Al 12,000
Ea 34,000
14 DBt 2 a3 46,000 51,000 25,000
OHO0Pte stsAblA 32,000,000 32,000
OBdsts Ot=stu ZAE- OHLIAYI
14,000,000 14,000
Al 12,000
T 2,000
307 elztol & 105,000 105,000
02 2B HAIAE & 105,000 105,000
ogdstssotel N 30,000,000& 30,000
O9AAZatHEers 75,000,000 75,000
308 AtXIEHMSOIE 40,000 40,000
13 S [2S0He & EAS A 40,000 40,000
©=Z=013tCl0| 40,000,000 40,000
401 Al HIZL 201 10,000 15,000 25,000
04 A2 S AIEH] 10,000 15,000 15,000
oTdsisegs RALR 10,000
OS¢ gdsts2gsl 10,000,000 10,000
NSobse2d Alglus 29 84,260 84,260 0




2A:

WEHF

33 HdssHM 75
Rl Bdsisolgt 15 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 19,260 19,260
01 At2teltl 1,260 1,260
O=FRE =g B4+
70,0002 %182 *13] 1,260
03 A= I 18,000 18,000 0
O==F MAANZWF 18,000,000 18,000
307 212+01& 65,000 65,000
02 LB MAHEE 65,000 65,000
O==RE F2USSH S3HAI
65,000,000 65,000
el BdstsAl 29 20,000 20,000
201 Ler23| 20,000 20,000
03 A=Y 20,000 20,000
ol gdss 24 20,000,000& 20,000
NP 2,239,282 1,042,753 1,196,529
SSAE =4 & 29 2,239,282 1,042,753 1,196,529
=2 Za=EXNgE 22 2,239,282 1,042,753 1,196,529
308 XXM SOIA 1,348,632 244,240 1,104,392
18 SIS0t 4 A A A 1,348,632 244,240 1,104,392
O2EAFAMYH 29
825,962,000& 825,962
O2stdA T2y 24
302,670,000& 302,670
O3¢I|1=l At 220,000
Og% 34 Alelx 50,000,000 50,000
O3t A=se S2421(63)
30,000,000& 30,000
(OF) = NE= 20,000,000 20,000
Ot 1654 393 40,000,000& 40,000
O=(#) 2NE 25,000,000 25,000
O70802M E 25,000,000& 25,000
Oorl2d 2es23(63l)
30,000,000 30,000
403 AXIEHHSAH=201H 890,650 890,650
02 S 2S0ItH et =& 2 €A ] 890,650 890,650
OE#=2I(5MH) 8,250,000 8,250
R =) 800,000 ~2CH 1,600
otxE A 4,200,000 *1CH 4,200
OLE8ANE 2,200,000 *1CH 2,200
OPC 7& 1,200,000 *2CH 2,400
o3¢y s3&Hl 7Y 330,000,000 330,000
O3HE ZEHH P 486,000,000 486,000
Od¢E IIot: 7 56,000,000 56,000




FAIICH
A TH

W=

Xl

2A:
R ZH -

o™

od
i’
oF
uJ

=aak

-

KIO

Hlw

6,205
6,205
A800

A800
2,000

22,800
25,800
20,800
20,800

HMEE
Ofl &k2h

13,790
13,790
3,990

6,046,785
6,046,785

9,800
181,200
181,200

406,200

8,000
8,000

Ofl &F2H

12,990
12,990
5,990
3,990
560

6,052,990
6,052,990

1,820
210
1,400
2,000
7,000
7,000
432,000
202,000
202,000

44,000

60,000
70,000
8,000
20,000
8,000
8,000
8,000
222,000
112,000

- HyS

- SRA(3) - HIRAEY

S - B

k=l

70,000 8 *1

=

=
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01 AFS2t2ltl

FAIICH
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a0
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K0

o
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2,000,000
7,000,000&

70,0003 x3H *1

70,000 %13 +2
100,000 +7 &2
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H

f=1
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3
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44.,000,000&

o

8,000,000&

60,000,000&
70,000,000&

307 212+01&

8,000,000&

N
=
X0
o

Kk

IN

5,000
5,000
A18,79%
31,320

217,000
107,000
110,000

100,000

5,626,795

112,000
110,000
60,000
50,000

5,608,000

131,320

112,000,000
60,000,000&
50,000,000&
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M WEHSH
T TMICH eIl 24
SRl XAICH Q1T 2E u=

(crel &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AfR 22l 31,320 0 31,320
OBF 0{9 B0 X
31,320,000& 31,320
03 A= I 100,000 100,000 0
o=+ F4d B2 24
100,000,000 100,000
308 XXM SOIE 5,476,680 5,526,795 A50,115
07 AX 2L FE= 72,000 72,000 0
Oz1nSsrd oIy =23 I
72,000,000 72,000
08 W=J|A0He 2 & 4,577,340 4,680,470 103,130
Ostugd XM (R -=-5- 1)
2,850,000,0002! 2,850,000
O3 2ATAN| X
1,619,840,000& 1,619,840
OF - NSstn MM m=7ol X
107,500,000 107,500
0 A2 7 USHISENH HIHES 197,340 194,325 3,015
©LSstu RUSHl X2
197,339,590 197,340
13 S [2S0He & EAS A 630,000 580,000 50,000
OSF DITHE AHA 2
450,000,0002! 450,000
0% ADIE 2lAY 130,000,002 130,000
OS% 200 HE H0ISY 2
50,000,000 50,000
HEHNE 2dst 37,649,503 31,086,974 6,562,529
s 800,000
Il 584,422
Al 1,094,378
[Ea 35,170,703
HEgs & A 7,066,173 6,496,003 570,170
Jl 584,422
Al 927,378
= 5,564,373
257 24 4,040,728 3,816,320 224,408
Al 685,000
o 3,355,728
201 er23| 106,956 118,756 A11,800
01 AtR2t2|HI 48,356 55,356 AT7,000
(@)1= agestall 11,000
O2sF 2885 74 4,000,000 4,000
o2k 2283 7 5,000,000 5,000
O2sR 24 & 4318 Hgus
2,000,000& 2,000




A NS
3 dENs 243
el HSgs & AR (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oY= 37,3%
O2s% d=) &8xt 1,116
., SEE =4 31,0002~ 122 372
WSS £4 U Bp1E
31,000 =20 =122 744
OZMAHAY =4 JXt=
15,600,000& 15,600
OMSE Mgl &xtz
70,0003 * 128 840
OMSE Xt Xt 1,650,000& «12& 19,800
2 35244l 58,600 48,400 10,200
0=32= # HAl 58,600
O2d8 =4 338s 5,000,000& 5,000
OHOAUHAE =4 & ¥ 3523
7,000,000& 7,000
OMEY =4 o #21% 3223
34,600,000 34,600
OZO0NQl HAATZRE X2 FIH|
500,000 x 122 6,000
OMEHY g 7=bI 500,000 * 122 6,000
202 04| 3,600 3,600
01 =LHOLI 3,600 3,600
(©FESn0:1a]] 3,600,000 3,600
301 EtE NS 3,700,172 3,618,964 81,208
Al 685,000
= 3,015,172
R2istd - 2SFSEYE 3,700,172 3,618,964 81,208
O=dg8 29 897,100
Oous & ==
549,000,000 549,000
Al 100,000
o 449,000
O&l &= 30,000,000& 30,000
Ooul=Hl 25,000,000& 25,000
O=2sE3H & 2RI 53,500,000 53,500
Ogt=4gAN Al 3,000,000& 3,000
Olzlge L= 25,000,000 25,000
Ota &3] 76,800,000 76,800
O&gt| 64,600,000& 64,600
OAH] 67,200,000 67,200
O&=HM& X 3,000,000& 3,000
OFHR HAAEZ=E 2H 651,272
Ol=1= 340,663
. BF 4,070,200& «1E =122 48,843




A NS
3 dENs 243
el HSgs & AR (Ete &
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
o X 3,276,300 < 1H* 122 39,316
o 3,507,000& 6+ 122 252,504
Al 85,000
o 167,504
(OFSI=t =) 19,050
o= 4,070, 2003 »45%~1 &8 23] 3,664
o X 3,276, 3003 *10%+1H 23] 656
o 3,507, 0002 *35%+6H <22 14,730
Od2+gitits 50,0002 x4 x 122 2,400
OJ&E=g 40,0002 x3&* 122 1,440
Od A SAH| 140,000 x8& * 122 13,440
Og&E=Itd| 34,068
. BF 4,070, 2003 =60+ 12 »23] 4,885
22Xl 3,276, 3002 x60%* 1 <22 3,932
o == 3,507, 000 x60+6 H *22] 25,251
OoctEd=
340,662, 0002 *1/12+86%+1/30% 102 80% 6,511
OXZE2 x| 17,400
INE=IN; 185,000 x2& * 12 4,440
o == 180,000 x62 123 12,960
O&dsd 24,000
o A=Kt 250,000 2«12 6,000
o H== 250,000 «6E ~ 128 18,000
OXEXt=& 100,000& x2&* 123 2,400
OXIEX &Sl 500,000& x2E 12 12,000
Ozl 100,000 x8&* 12 9,600
O+t =g
500,000 6 * 122 36,000
O&lA= 5,000,000 5,000
OLl=H| 30,000,000 30,000
O=2s83Hl & 2=yl 8,300,000 8,300
Olzlge Za=s 35,000,000 35,000
OUaEItEH| 53,000,000 53,000
Od=Md XNz 1,000,000& 1,000
OMEH 29 2,151,800
Oogs & 24 A
1,534,000,000& 1,534,000
Al 500,000
s 1,034,000
Ol &= 79,000,000 79,000
OLl=H| 30,000,000& 30,000
O2S8= € 2= 48,000,000 48,000
OlzlggEd=s 60,000,000 60,000




A NS
3 dENs 243
el HSgs & AR (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OU=EItaH] 140,400,000 140,400
O&gt| 59,400,000& 59,400
OAHI 198,000,000& 198,000
Od=MEXNE2 3,000,000& 3,000
405 AHAHE S 230,000 75,000 155,000
01 IR =S F=H 230,000 75,000 185,000
OMEL sed &) FY 230,000
OEg = 23,000, 0002 +2CH 46,000
OsdiHAl 8,800,000 ~2CH 17,600
OZctge 7,500,000 +2CH 15,000
OCIZ0lALOI2 3,300,000 *2CH 6.600
OMlAZEA 6,900,000 *1CH 6,900
OzdHAl 3,900,000 *1CH 3,900
OdladAdE 6,600,000 1CH 6,600
Odl 0z 6,600,000 1CH 6,600
OSdI0IEME 4,500,000 ~1CH 4,500
OE0EH 6,600,000 *1CH 6,600
ONAEZ A 6,600,000 *1CH 6,600
OHEZct0l 6,600,000 1CH 6,600
O&H=dA 6,600,000 1CH 6.600
OZEIAHIOIE 16,200,000 = 1CH 16,200
OA0IA0l 5,700,000 1CH 5,700
OHARE 6,400,000 1CH 6,400
OLBEAE 3,700,000 *1CH 3,700
OF: [EEL=ES 6,300,000 1CH 6,300
OZFEEdoIHN A
3,500,000 *1CH 3,500
OBAMEEdOIHNA
9,900,000 1CH 9,900
OAFHEH 3,700,000 1CH 3,700
ootz 5,400,000 2CH 10,800
O"IXI 1,400, 0002 2CH 2,800
OgHi x| 3,000,000 *1CH 3,000
O28l 500,000 ~2CH 1,000
OZHE 5,500,000 1CH 5,500
ogA el 2,500,000 *1CH 2,500
Ot 1,600,000 *1CH 1,600
OBIENE 1,200,000 *1CH 1,200
ODBel 1,600,000 «1CH 1,600
OEEME 4,500,000 = 1CH 4,500
sFTHSse A 605,067 441,379 163,688
301 LEetE N = 130,000 0 130,000




A NS
M MBS EA5
el HSgs & AR (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
08 212t21=2] 01| 130,000 0 130,000
ORIZ20F 2oloi4 U HFAIL A8l
130,000,000 130,000
307 gl2to| & 475,067 441,379 33,688
03 PIZAHHEE 22X 465,067 431,379 33,688
02FE 83 2N
465,067,000& 465,067
04 QIZHHAIAIH E X 10,000 10,000 0
OMENSXNA F2S 10,000,000 10,000
A= X 40,500 45,000 24,500
307 elzto| & 40,500 45,000 24,500
02 SRIBAAR B 40,500 45,000 A4,500
02F2 KiXETH X
40,500,000 40,500
HEHF A X 110,286 100,286 10,000
Al 10,143
o 100, 143
307 212+01& 110,286 100,286 10,000
Al 10,143
= 100,143
02 LB HAHE L 110,286 100,286 10,000
OdEM=ua X 110,286,000 110,286
Al 10,143
= 100,143
Oelol Msud X2 4,320 4,320 0
Al 2,160
s 2,160
307 @12t01 & 4,320 4,320 0
Al 2,160
[Ea 2,160
02 B AAHE L 4,320 4,320 0
o000l Hsua 4,320,000 4,320
Al 2,160
s 2,160
449 Heds X 4,320 4,320 0
Al 2,160
Ea 2,160
307 gl2to| & 4,320 4,320 0
Al 2,160
s 2,160
02 QB AANEER 4,320 4,320 0
OFaY NaEuad 4,320,000 4,320
Al 2,160




2A: BFEAHSU
M MBS EA5
el Ms2s Y ALK (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| = 2,160
d=Hs0eE K& 3,960 3,960 0
Al 1,980
= 1,980
307 QIZ2t01 A 3,960 3,960 0
Al 1,980
= 1,980
02 QIZHAAAIEER 3,960 3,960 0
O&==HM=U= 3,960,0002 3,960
Al 1,980
= 1,980
ME S BHIX(ESKIH) 737,912 679,138 58,774
| 251,656
Al 154,628
= 331,628
307 212+01™ 737,912 679,138 58,774
J| 251,656
Al 154,628
= 331,628
02 QIZHAAAIEER 737,912 679,138 58,774
OMEMSXEA HX(Z2SKIH)
737,912,000& 737,912
J| 251,656
Al 154,628
= 331,628
ATRAFOIZEH KA 397,860 397,860 0
| 278,502
Al 59,679
= 59,679
307 212+01 A 397,860 397,860 0
| 278,502
Al 59,679
= 59,679
02 QIZHBAAIEER 397,860 397,860 0
OAEZ=ZR0IEAH XA
397,860,000& 397,860
| 278,502
Al 59,679
= 59,679
HOIAZ=2H0|SH XA 77,520 77,520 0
| 54,264
Al 11,628
= 11,628




A NS
M MBS EA5
el Ms2s Y ALK (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
307 212t01™ 77,520 77,520 0
Il 54,264
Al 11,628
T 11,628
02 QIIHAANEE R 77,520 77,520 0
OFMAAZ=2AR0IZSH X
77,520,000 77,520
J| 54,264
Al 11,628
ia 11,628
&29 Z=JIU3 X 281,600 202,600 79,000
307 212t01™ 281,600 202,600 79,000
02 2IZHB A E & 12,000 12,000 0
ONSFHAL X 12,000,000& 12,000
04 QIFHALA I B 269,600 190,600 79,000
OSFE4I| MEUSHST
30,000,000 30,000
ozZ=Jl ERU3 16,600,000 16,600
ozZ=Jl S=U3l 7,000,000 7,000
OZ==J| HILIATHE 8,000,000 8,000
OzZ=J! HOIE=SU= 7,000,000 7,000
OZ==J| BHELIEHS 13,000,000& 13,000
ozZ=J| &3l 13,000,000 13,000
OzZ=J| Z71U3 8,000,000& 8,000
oz 223 8,000,000& 8,000
Ozl ti=2ti=l 8,000,000 8,000
OzZ=J| SeHial 7,000,000& 7,000
O=Z==J| O3l 8,000,000 8,000
O2)| SUEHAl S0ISHOIESUE
6,000,000& 6,000
O==J| IHeiZ2etoIZ e
7,000,000& 7,000
OzZ=J| =03l 7,000,000 7,000
OzZ=J| =EU3l 7,000,000 7,000
o2 =s|IsUa 7,000,000 7,000
OzZ==J| A AIUZ 7,000,000 7,000
OzZ=J| IIA3ZMH3 8,000,000& 8,000
OzZ=J| &3 7,000,000 7,000
O2=J| BEUA 7,000,000& 7,000
ozZ=J| £2€JItHal 7,000,000 7,000
O )| HAATX(YZ 7,000,000& 7,000
OzZ=J| 33l 7,000,000 7,000
OzZJ| RItU= 7,000,000 7,000
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A NS
M MBS EA5
el HSgs & AR (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2SSO MSAIE AHEE K& 50,000 94,500 A44,500
307 elztol & 50,000 94,500 A44,500
02 2B YA E X 50,000 94,500 AN44,500
OAxE=x SS MSAE MHE= NE
50,000,000& 50,000
H=AE 28 & 2l 30,583,330 24,590,971 5,992,359
[ 800,000
Al 167,000
o 29,616,330
HEHSAIE £X 1,456,180 264,000 1,192,180
203 gR=8| 1,500 1,000 500
03 A=A PR FA| 1,500 1,000 500
OMEHSAL LX2E Y25
1,500,000& 1,500
401 AIEHIZ SR 0HYI 1,454,680 250,000 1,204,680
01 Al&HI 1,450,000 250,000 1,200,000
OSE Y&t MSAIE ZE3A
450,000,000 450,000
TN D2 s34 ZHAE
1,000,000,000& 1,000,000
03 AIZSTHYI 4,680 0 4,680
OAl4 I 4,680,000 4,680
HEX=SAIE R 22 5,812,623 9,762,662 A3,950,039
201 2= 242,000 225,250 16,750
01 AtR2t2lt] 95,200 100,000 24,800
OHEHSAIE FX2e A28 7
3,000,000& 3,000
OA%E MSAE =374 Sx=
92,200,000& 92,200
02 S3=gHl 146,800 125,250 21,550
ONMEAE 532= 120,000,000& 120,000
OSENOIESY ALotA 2]
2,400,000 2,400
OSEANOIE=E MIIotd 22|
2,400,000& 2,400
042 HEAE X2 SHaltl
22,000,000& 22,000
307 212+01& 200,000 150,000 50,000
05 2ItRIE = 200,000 150,000 50,000
OdEH=AIE 2¢ 200,000,000 200,000
309 HES 2,089,237 2,028,267 60,970
01 SAt- SHEYNES 2,089,237 2,028,267 60,970
oAgaesH MSAE 29
2,089,237,000& 2,089,237
401 AlZHIZ SO 2,902,936 7,100,145 A4,197,209




2A:

WEHF

Hu: METS S43
Rl MSsAE 28 % 22 EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
01 A=l 2,892,820 7,077,000 A4,184,180
OXMSAE =X i 17,820
OHMSAIE DI24 EX HY
17,820,000 17,820
OHSAIE BOIZHITA
200,000,000& 200,000
OHSAE(28E) RS NHSA
500,000,000 500,000
OMSAlIE CCTV WHISA 210,000,000& 210,000
OZAIZ2IHE(HSAIE) B8 29
25,000,000 25,000
OSTAIHEAIE(MSAIE )AL AAIHEQID}
2 =35 20,000,0002 20,000
OMLHE P B2IHE HASE B
20,000,000& 20,000
O2sZ AUXIC] WHSBA
1,000,000,000& 1,000,000
O0FI2SIIT HHIBA
400,000,000 400,000
OUENSAIE 218 RAZF+SA
500,000,000& 500,000
03 AlZ = THHI 10,116 17,335 AT7,219
OAIE =] 10,116,000 10,116
404 SMSEHIZ2HES 378,450 259,000 119,450
01 SAt- SEHAI=HES 378,450 259,000 119,450
OAlZ22|3H MSAIE 2
378,450,000 378,450
2NESMSHE 2 3,525,370 3,084,907 440,463
308 AHXIEMSOIH 758,618 630,864 127,754
18 SIS A AIE 758,618 630,864 127,754
Oo2¢=EstMsdH 228 29
758,618,000 758,618
30 M=z 2,489,052 2,264,537 224,515
01 SAl - SHIAYNES 2,489,052 2,264,537 224,515
O2¢EstM=sdEH 2
2,489,052,000& 2,489,052
404 SANEHH=2EES 277,700 189,506 88,194
01 2At- SEHA=HES 277,700 189,506 88,194
Oo2¢=zstMsdH 29
277,700,000& 277,700
sFz=aUMsdH 29 3,855,360 3,193,717 661,643
308 AXIHMSO0IA 825,979 766,341 59,638
183 S 2S0UetE SR ASAIE] 825,979 766,341 59,638
OEFZ2UMSHE 228 =23
825,979,000 825,979
309 HES 2,505,381 2,268,776 236,605




2A:

M MBS 243
=Rl MSAlE €8 2 22 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2AL - BHAYTES 2,506,361 2,268,776 236,605
OSFZRRIMSHE 2
2,505,381,000& 2,505,381
404 SAISEHI=EES 524,000 168,600 365,400
01 SAk- SEHIHEHES 524,000 158,600 365,400
OSFTRUNSHE 2
524,000,000 524,000
ETTEMSHH =29 4,529,723 0 4,529,723
308 XtXIEMSO0IE 363,479 363,479
18 SO 2SS X 2AS A 363,479 363,479
OS=ZEH=sHEH T2 2
363,479,000 363,479
309 HES 3,194,767 3,194,767
01 SAt- SHEYNES 3,194,767 3,194,767
OSFZHHSHE 2
3, 194,767,000 3,194,767
404 SANBHI=HES 9,477 9,477
01 SAl- SEHIH=NES 9. 4arr 9. 4arr
OSFSeMsHE 2¢
971,477,000 an.4r7
THE2SE ZL(AHISH) 5,193,774 4,460,800 732,974
401 AlEHIZ 201 5,193,774 4,460,800 732,974
01 Al&H| 5,181,000 3,650,000 1,531,000
OTRI2SE ZEAI SAHI
4,731,000,000& 4,731,000
OSSN BULE FAF BY
450,000,000& 450,000
03 Al 20HHI 12,774 10,800 1,974
OAIZ 20l 4,731,000,00021%0.27% 12,774
A PE ALHERIEE A= (3H=H]) 3,554,000 1,800,000 1,754,000
= 800,000
Al 167,000
= 2,587,000
401 Al HIZL 201 3,554,000 1,800,000 1,754,000
= 800,000
Al 167,000
o 2,587,000
01 Al&HI 3,500,000 1,800,000 1,700,000
O"A 7 AUHERIEE 28 SAH
3,500,000,000& 3,500,000
s 800,000
Al 167,000
s 2,533,000
02 2l 44,000 0 44,000




A NS
Ho: MBHS B3
Rl MSsAE 28 % 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O8N g A=EE HESAF 2l
]l 44,000,000& 44,000
03 Al =2 0HHI 10,000 0 10,000
OAlI4SHYI 10,000,000 10,000
8N S& FclZ2 gAY 1,006,300 1,100,000 A93,700
401 AIEHIZ SR OHYI 1,006,300 1,100,000 A93,700
01 Al&HI 1,000,000 1,100,000 100,000
O8A S& FclZ ZEAIE SAH
1,000,000,000& 1,000,000
03 Al 2CHYI 6,300 0 6,300
OAIE2HYI 6,300,000& 6,300
o2k X3 ZAA(=H) 1,530,000 1,530,000
401 AIZHIX S0HH 1,530,000 1,530,000
01 AlZ2H| 1,280,000 1,280,000
OALHSIY LAY J12 & AAIEHN
S9l 1,280,000,000& 1,280,000
02 2/l 250,000 0 250,000
OHAMISE &AM ALAIH2CE
HICEAIEA) 250,000,000% 250,000
AUEILIAE LAY 20,000 250,000 230,000
401 Al HIZ S 0HbI 20,000 250,000 230,000
01 AlZH| 20,000 250,000 /230,000
O A2/ HE (SSHHSIH) HE Y
20,000,000 20,000
=F 328 ZdME 100,000 100,000
401 AIEHIZ SR OHYI 100,000 100,000
01 Al&HI 100,000 100,000
O==F LII=TE THAIE 2AIEHSSH
75,000,000 75,000
OS2+ MASZZE ZdAY SZIeEt
e Sl 25,000,000& 25,000
SHYAE=X S35t 730,885 1,166,485 A\435,600
Al 62,000
s 668,885
HEAE= SHH3E X 730,885 1,166,485 A435,600
Al 62,000
= 668,885
St LAMME RA 2L (HEALY) 16,000 51,390 A35,390
Al 12,000
Ea 4,000
307 gl2to| & 16,000 30,000 14,000
Al 12,000
s 4,000
02 QB AANEER 16,000 30,000 14,000




A NS
B HUAEX BAS
el GHYAE= EHG XA (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odstoi el MEuWa 24
16,000,000 16,000
Al 12,000
Ea 4,000
St el MMEna 2SN 21,390 21,390
201 et 3| 21,390 21,390
01 At 22|l 11,390 11,390
OofiZellMMEns s 822 M 4,900
O&X M= 1502%10,000& 1,500
Os2=s 78 3,400,000& 3,400
Ol MME N 28d=5 28
6,000,000& 6,000
ONLUH AL H2RS| 5lol s LT
70,0002 +74 490
2 352484l 10,000 0 10,000
Ot NSEE= 10,000,000& 10,000
oiefell XM OOl 24 30,000 30,000
307 el2to| & 30,000 30,000
02 2B YA R E £ 30,000 30,000
Odlitell A OF3tHI0l 2
30,000,000 30,000
o) E=2EMEU2 47,700 47,700 0
307 212+01& 47,700 47,700
04 QIZHHAIAIH E X 47,700 47,700
OSF2+)| d=AEAEUE
47,700,000 47,700
= ol Z=ME 2 340,795 762,3% 421,600
201 Let=23 | 140,795 138,79 2,000
01 At2teltl 47,300 46,300 1,000
OEIIQIF BRI NS
5,800,000& 5,800
OsZIIRAA S A
2,000,000 2,000
OAgotM 2| 2,500,000& 2,500
O2&E XY Y| 14,000,000& 14,000
OFH € AFE & 2|
10,000,000& 10,000
OdilZHMEHAL AIEZS S
5,000,000 5,000
ool & AeJ| el 8,000,000& 8,000
02 S3=4gl 93,49% 92,495 1,000
Ogx=tiet SHalb| 12,495,000& 12,495
OA12 AIZEHI=A 9,000,000& 9,000
Odle 5832= &7 72,000,000 72,000




A NS
B HYAEE A5
el GHYAE= EHG XA (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 200,000 623,600 A423,600
01 Al&H| 198,000 620,000 422,000
OSFoHLUE=HH AEBF=SA
198,000,000 198,000
03 Al = THHI 2,000 3,600 21,600
OAl4 I 2,000,000 2,000
SFofelE=x U= 275,000 275,000 0
Al 50,000
T 225,000
307 glztol & 275,000 275,000 0
Al 50,000
2 225,000
04 QIZFHALAI I B 275,000 275,000 0
ogFHLAUTE HEH
275,000,000 275,000
Al 50,000
o 225,000
HY2EIH(NSHS) 151,268 135,766 15,502
QIH2HH(RSHS) 97,292 78,090 19,202
QI 2HH(RSHS) 97,292 78,090 19,202
101 @124H| 97,292 78,090 19,202
01 &2 91,179 72,079 19,100
OAIZRZR4E 91,179
O6= 12,5312 x45A| 2H4E x 120 2 27,067
ora 11,319 *45 A1 2H6E * 1201 2 36,674
O8= 10, 1623 »45A1 2t 1201 27,438
02 JIEtME = 6,113 6,011 102
QAIZAZ 2 (LEFIIIM)
11,3192 x40 A1 2+ 1H* 123 6,113
Jl2gdbl(nsHE) 53,976 57,676 A3,700
Jl23H(nSH =) 53,976 57,676 A3,700
201 fer= 3| 29,976 23,876 6,100
01 AtR2t2|HI 29,976 23,876 6,100
OZEt=EH| 8,760
EHoa2E 8,760,000& 8,760
O=EH| 8,000 17 *1341+12& 21,216
202 04t 20,400 28,800 /8,400
01 =LHOHI 20,400 28,800 28,400
O=tLHbI 100,000 x17H =122 20,400
203 =4l 3,600 3,000 600
04 FAE2EERFAH 3,600 3,000 600
ORNSHERF=AHI 300,000+ 122 3,600




